

44. $f \in C[0,2]$

? $\exists c \in [0,1]$ $f(c+1) - f(c) = \frac{1}{2}(f(2) - f(0))$?

$F(x) = f(x+1) - f(x) - \frac{1}{2}(f(2) - f(0))$, $F: [0,1] \rightarrow \mathbb{R}$ непрерыв.

$F(0) = f(1) - f(0) - \frac{1}{2}(f(2) - f(0)) =$
 $= -\frac{1}{2}f(2) - \frac{1}{2}f(0) + f(1)$

$F(1) = f(2) - f(1) - \frac{1}{2}(f(2) - f(0)) =$
 $= \frac{1}{2}f(2) + \frac{1}{2}f(0) - f(1) = -F(0)$

1° $F(1) = F(0) = 0 \Rightarrow c = 0$ или $c = 1$

2° $F(1) \neq F(0) \Rightarrow$ нужен еще один знак

$0 \in [F(0), F(1)] \xleftrightarrow{\text{Ковши-Горышко}} \Rightarrow \exists c \in [0,1] F(c) = 0$

$f(c+1) - f(c) = \frac{1}{2}(f(2) - f(0))$

46. $f: \mathbb{R} \rightarrow \mathbb{R}$ непрерывна и $\forall x, y \in \mathbb{R} f(x+y) = f(x) + f(y)$. $f = ?$

$x=y \Rightarrow f(2x) = 2f(x)$

$x=y=0 \Rightarrow f(0) = 2f(0) \Rightarrow f(0) = 0$

$x=y=1 \Rightarrow f(2) = 2f(1)$

$x=1, y=n \Rightarrow f(n+1) = f(n) + f(1)$

$f(3) = f(2) + f(1) = 2f(1) + f(1) = 3f(1)$
 $f(4) = 4f(1) \dots$

Итак: $f(n) = n f(1)$, $n \in \mathbb{N}$

за бонусы ...

$x=y=-1 \Rightarrow f(-2) = f(-1) + f(-1) = 2f(-1)$ } ИМХО $\Rightarrow f(-n) = n f(-1)$

$x=-1, y=-n \Rightarrow f(-n-1) = f(-1) + f(-n)$

$f(0) = 0 = f(1) + f(-1) \Rightarrow f(-1) = -f(1)$

$f(-n) = -n f(1)$, $n \in \mathbb{N}$

$n \in \mathbb{Z} \Rightarrow f(n) = n f(1)$.

$m \in \mathbb{Z}$
 $k \in \mathbb{N}$
 $\boxed{\frac{m}{k}}$ $f\left(\frac{m}{k}\right) + f\left(\frac{m}{k}\right) + \dots + f\left(\frac{m}{k}\right) = f\left(\underbrace{\frac{m}{k} + \dots + \frac{m}{k}}_k\right) = f(m) = m \cdot f(1)$

$f\left(\frac{m}{k}\right) = \frac{m}{k} \cdot f(1)$.

$\forall q \in \mathbb{Q} f(q) = q \cdot f(1)$.

$$r \in \mathbb{R} \quad f(r) = ? \quad \begin{array}{l} z_n \in \mathbb{Q} \quad \forall n \in \mathbb{N} \\ \lim_{n \rightarrow \infty} z_n = r \end{array} \quad \lim_{n \rightarrow \infty} z_n = r$$

$$f \text{ непрерывна} \longrightarrow f(r) = \lim_{n \rightarrow \infty} f(z_n) = \lim_{n \rightarrow \infty} z_n \cdot f(1) = r \cdot f(1)$$

$$\forall x \in \mathbb{R} \quad f(x) = x \cdot f(1), \quad f(1) \in \mathbb{R}$$

$$f(x+y) = (x+y) \cdot f(1) = x \cdot f(1) + y \cdot f(1) = f(x) + f(y).$$

$$49.7) \quad f(x) = \sin x^2, \quad x \in (0, +\infty)$$

$$x, y \in (0, +\infty)$$

$$|\sin x^2 - \sin y^2| = \left| 2 \sin \frac{x^2 - y^2}{2} \cdot \underbrace{\cos \frac{x^2 + y^2}{2}}_{\leq 1} \right| \leq 2 \left| \sin \frac{x^2 - y^2}{2} \right| = 2 \left| \sin \frac{(x-y)(x+y)}{2} \right|$$

$$\leq 2 \left| \frac{(x-y)(x+y)}{2} \right|$$

↓

$$\sin t \leq t$$

$$y_n = \sqrt{2n\pi} \quad x_n, y_n$$

$$\sin x_n^2$$

$$x_n = y_n + a_n, \quad a_n = x_n - y_n \rightarrow 0$$

$$\sin x_n^2 = \sin(y_n^2 + 2a_n y_n + a_n^2) = \sin(2n\pi + 2a_n \sqrt{2n\pi} + a_n^2)$$

$$= \sin(2a_n \sqrt{2n\pi} + a_n^2) = \sin\left(1 + \frac{1}{4 \cdot (2n\pi)}\right)$$

$$a_n = \frac{1}{2\sqrt{2n\pi}}$$

↓

$$\sin 1 \neq 0$$

$$x_n = \sqrt{2n\pi} + \frac{1}{2\sqrt{2n\pi}}$$

$$x_n - y_n = \frac{1}{2\sqrt{2n\pi}} \rightarrow 0, \quad n \rightarrow +\infty \quad \left. \vphantom{x_n - y_n} \right\} \Rightarrow f \text{ не имеет предела}$$

$$\sin x_n^2 - \sin y_n^2 \rightarrow \sin 1, \quad n \rightarrow +\infty$$

